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GRADE 12 ESSENTIAL i
QUIZ - WEEK 5 Date:
GEOMETRY & TRIGONOMETRY

Tueme /4|m it s

Show work where necessary (aimost always). L,C }
Use your study sheet (cheat sheet) or mine S5 mins |

As always round decimal answers to the nearest 0.01 unless otherwise

indicated. We went 5":
Diagrams here are not necessanly to scale, amlerw
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1. Determine the measure of each angle, a, using the geometric relations
regarding Triangle Sum Theorem, Suppiementary Angles, Complementary
Angies and the Opposite Angles (vertical angles), and Comresponding
Angles in parallel ines ‘theorems’. (1 mark each)
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Solve using Euclidian GeometricLaws
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We had done a warm up *
just before



STATISTICS
Mean. X = Lu, sum up all the data and divide by the data set size, n

n L]
Y(xgewf+xswfo+xgwf3+++) 5 Z .

=i/ 1
(whitw/fz+w[3+++) D wf,
Median, ¥. Line data up in ascending order, find the data value at the middle place.
Middle place = *“:”. Eg: n= 17 data — middle place is the 9" place. With 20 data — middle

place is the mean between the 10" and 11" place, value in 10 and a ‘halfth’ place.

B+1/ E
Percentile Rank. PR = /2 = 100:round up!; where B is the number of scores below, E is the
number equal; and N is the total number.
_ i - Y
Percentiles and Quartile Ranks. P2sm Qy; Pgo : Q: = Median; PnE:IgL ki TRIGONOMETR J—— oolygon
Note: some references simplify this too — « 100 = GEOM where n is the numbef

.gs(n=-2 in a Potygon: :
s=| o Di gmaﬁllﬁa ) of sides.

Weighted Mean:

and perhaps by now
you have adapted it
to your own!
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f. draw your own interesting geometry
relationship that demonstrates one of
the rules
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2. Given4B | | CD (diagram not to scale!) - o
/4 "tcrnﬁiﬂ -!‘“{EVW {

State the measure of angles:/ rcle AED
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3. Explain in words what a complementary angle is. A picture would
certainly help too

cchrpl{ ent
Complementary angles -
form a 90° angle
0
X+ B=10
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INEUEE SR TOGETHER. Have you been casually
oL reading glossary at
AS ARE YOU, back of notes??
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4. Multiple Choice. Select the one best answer. A Scalene Triangle is
one that (1 mark)

@ has no sides the same length b. wmdes
G hw'as d. bassix sides

Sllly question, but trying to show you that once you eliminate
the silly answers, the one left over must be correct.

Also, the obvious answer to this question will help you with the
last bonus question!
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4. Statistics. 225 Students wrote a University Entrance Exam. Karen
scored 39 marks out of a possible 58 on the Entrance Exam. One other
student had the same score. 120 students had a lower score.

a. Determine Karen's mark as a percent on the exam.
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b. Determine Karen's percentile rank
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5. Determine length x. (two marks) '1 o
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6. Problem Solve. Five years ago my teacher was twice my age. | am 26

now, how old is the teacher now? (two marks)
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You can see this method can be cumbersome!

But it works



6. Problem Solve. Five years ago my teacher was twice my age. | am 26
now, how old is the teacher now? (two marks)
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am now, therefore five years ago x
was 21. th&ﬁﬂ

If | was 21 five years ago AND the teacher
was twice my age 5 years ago then the
teacher must have been 42 five years ago.

Therefore | deduce that today the teacher
must be 47 years old >
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7. Given that AABC ~ AAPQ. (ie:
AABC is similar to AAPQ)

a. State the length of AB.
b. Determine length Xx.

lent) AL = AP+ PB
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.[BONUS | Given 7B | | PQ., Lines BP and AQ, determine length QZ
N— RO
tramvesds O3

ome!
Lual.c
/ ARBR=4PR@ V
(oPros ile a.-..-uiIES)

oo -~ ) <«BAL=<cPaz
; Y {a{f wile interior
Q. ? 2 :r Erﬁ-mifdsj
(3 2P =¢nB2
(-'!'ch.}lg SLymn Mth)
Therekore D~ DABRVLEPZ

ok, a little intense! \ 'ﬂ.ea cre Similer

- P&
But beautiful
ut beautitu " q& FH-_

You probably got the answer
more instinctively - (b



9. Bonus.| Determine the sum of the counting (integer) numbers from
1 to 39. (two marks)

|4+ 3+ 44+ etc + 44+ 3F+38+39 ° ?
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10.[Bonus.] Draw me a cute little kitty cat cuddled up inside a Scalene
Triangle.

Been flipping through glossaries?
Scalene is a triangle that has no sides (or angles) same
Which was obvious from a previous question in this quiz!







